Question Booklet No.

Question Booklet Code SLRC_2 02 2

C Paper : III

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examinationn Hall during the examination hours.
Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.
Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, 1.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘C’, then he/she should fill up ‘C’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘C’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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1. 31=t¥6, 2022 TS SN T (22 (&8 =10g ?

(A) e (B) ~f=fam
(C) Tel@ (D) e«
1. 2022 FEE 31t Wil WA FoLE (&l (2 2
(A) Toife (B) R
(C) T (D) @
1. 31s=t A, 2022 21 ¥ JATEmEE gHs9 fqar g 2
(A) AF 34 (B) @M 35
(C) ¥M33 (D) M 32
1. 319, 2022 H137eF A fhaa a1 2 2
(A) didE (B) TdE
(C) ddmE (D) =™
1. Ason 31st of March, 2022, how many districts are there in Assam ?
(A) Thirty Four (B) Thirty Five
(C) Thirty Three (D) Thirty Two

2. T o sz R G BRmE ST R 0 2

&) TF (B)
(C) gFNE (D)
2. foTey SraEfere o leE N0 (FRITD ST 0o ST ST 2
&) TF (B) T
(C) R (D)
2. TTEETE EFHE FETH R NI 3 BT STEH A THea 2
(A) = (B) 9@
() TR D) w2
2. fefefgd § 9 H 91 g1 379 & 1 S T a1 2 7
(A) =H (B) HI&A
() P D) T
2. Which of the following countries share border with Assam ?
(A) China (B) Nepal
(C) Myanmar (D) Bhutan
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3. el nEonEs (iR WHRES 1w w1 e ?

(A) TFRRE OTY (B) *R=XD 7o
(C) Lo &SPl TG (D) Rl TSI (T
3. T SET oTeg T N (FF T ¢FeN 2 WiiE ?
(A) TTFERET T (B) =[G oy
(C) QLo 2Rl (g (D) <femiteNa oTg
3. TTEEE BAE SATH R TSE 78 7931 A AR TIE § ?
(A) TR &g (B) wTEHTE ¥g
(C) U BTSAIIERT Hg (D) e g
3. frefafed el 83, 1 a1 998 & ™A R E ?
(A) TR g (B) T I
(C) YA BT 99 (D) HeAAHTT Hg
3. Amongst the following bridges, which one is at the Easternmost place ?
(A) Naranarayan Setu (B) Saraighat Bridge
(C) Bhupen Hazarika Setu (D) Koliabhomora Setu

4. OO ($3Y AT ANB SN HAAT ol e 2

(A) =T (B) e
(C) =i (D) w2
4. SATSA R A I 0o SR ST 2
(A) =’ (B) eh
(C) =%h D) %
4. AT AHEE TS SFAEES] 901 T ?
(A) WH9 (B) AT
(C) @E8 (D) d[ 10
4. 9T % TR T 379 o A H A AT B B 7
(&) (B) =
(C) #13 D) <&
4. How many states of India shares border with Assam ?
(A) Nine (B) Seven
(C) Eight (D) Ten
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1=t SRAIST, 2022 ATHTS SN (qaNE! e 2

(A) =S| el (B) vEwIE AGES]

(C) T= e =i (D) g i

2022 T 1=t TR INITS NN faawz ] < em 2

(A) TSR] e (B) TmIZ AGRIA!

(C) T famg =t (D) AR ST

1st ST, 2022 21 AR, A T-TET (finance) A3 IR 2

(A) e faFm (B) == A& TeEd

(C) feo=afag wmi (D) g B

TEAT S, 2022 1 FEH F FA I HE E 7

(A) AT AT (B) <gdmEA TeEd

(C) T fomm o (D) IS BT

Who is the Finance Minister of Assam as on 01t of January, 2022 ?
(A) Ajanta Neog (B) Chandra Mohan Patowary
(C) Himanta Biswa Sarma (D) Pijush Hazarika

TN (P OO (IR F R WiE Wwe ohEe ?

(A) T=sE B) TEEYF
(C) TETH D) =l
TR Ne Q8 R W4 X7 ST (P %I WAZS ?
(A) TrpiisrE B) TEETA
(C) eI (D) =Et
a1 A9hT 3T 23 A1 S Are STTEME 99 SETEE © 2
A) femamm (B) K
(C) =R (D) ==
T HhT L B A Afet 99 & g ME TR E 7
ENIREEELE (B) TF
(C) gl (D) @
Poa Mecca and Hoygriv Madhab Temple is at which place of Assam ?
(A) Sibsagar (B) Tezpur
(C) Dumunichowki (D) Hajo
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7. TR0 WAEe Ui ST (s 1N :

(A) w12 (B) TFER
(C) =i (D) a2
7. TAEEG SR ES U el (e 1 5
(A) A2 (B) TIF=IR
(C) =2 D) foeaz
7.  SREEE 9TEE 91 E fstaEaE syt g an ¢
(A) T (B) e
(©) ) fir
7. SRER RIA9E A799HE FRHE H1 AW F9730 |
(&4) (B) e
(C) e D) ferog
7. Name the tea research institute at Jorhat.
(A) Tarai (B) Tocklai
(C) Tamo1 (D) Tingrai
8. o SONRI SR LT ;
(A) =% (B) IF@R AR
(C) TR (D) ZTETeTSl
8. e TR FMTTaa N 24 -
A) ©=H (B) <19 A
(C) TRl (D) TENETS!
8. ffatam srafaan tar A1 amEg A g3 A ¢
(A) HTEfa (B) AN 99N
(C) (D) sZamEd
8.  3FHAT S TEel MhI BT AT FATRT |
(A) T (B) =R #HR
(C) S (D) AT
8. Name the first talkie in Assamese.
(A) Bhaiti (B) Baruar Sansaar
(C) Joymoti (D) Indramalati

SLRC-2022/P-ITI/C 9 % P.T.O.



9. TSI (R4 791 T SO S TS ?
A) fowme (B) FRMEI
(C) < (D) =7
9. I SrEe AR W0 (WG I TSR WA ES ?
(A) frEg (B) R
(C) <fomc D) =77
9. TTEEH F5 AT U BEAE C 2
A) fewtm (B) Hfmm
(C) =W D) wg
9. fAGEadasRAIdTHardas ¢
(A) femm (B) AW
(C) =W (D) wg
9. Which of the following river is in the Barak Valley ?
(A) Dikrong (B) Kushiyara
(C) Boginadi (D) Bharalu
10. =PRE FifETT 395 5 2
(A) CRCTR (B) WA
(C) e (D) “iz®
10. SMNE A< sz 1 2
A) 2R (B) e
(C) =& (D) wrs
10. 3ATEMEA BTEETATR SHIAT AT ?
(A) = (B) &I
(C) 9= (D) I
10. 3799 1 ITHE 97 F12 7
(A) B (B) &
(C) ImeA (D) A
10. What is the State Tree of Assam ?
(A) Hollong (B) Teak
(C) Saal (D) Peepal
11. GG 2 9T L0 T © W2 -
(&) Y42 B) Tl
(C) =RTEEM D) T gt
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11, “TIET Y5F GHOG SAES
(A) =T (B) el
(C) ZRwEM (D) IS fot
11. 99 e TS ATTEE ?
(A) FFs (B) FIewhmdl
(C) #euErg (D) TieH feeett
11. 9 ¥ TFE S Tfaz|
(A) 3 (B) #HTethral
(C) #etmTg (D) Efeeet
11. The National Stock Exchange 1s located in
(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delh1
12. G5 TTHRE 7@ MG FHRE T2 T BB T T2 ACESET
TR forie e Siferra «[1 foare 5 |
(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
12. foIce StEi<e S s (F ZESKTE SAMMID QF b F(Toid (ATF )] FTHT
T35 ZFBTe FICe 2[4 AR ©f oz i |
(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
12. TTEEE 8AE 59 A8 TR AT (hardware) T3 FEATHE T T8 FITT AT
SAEAEAT (file transfer) M1 ?
(A) BIOS @@M)
(B) Hard Disk (gTefem=h)
(C) CPU (13
(D) USB Flash Drive (Z.T4.51. %91 2139)
12. frerafed 9= 9 39 B T &1 T2 H %1, 949 0% FFe 9 g FEF H FEA] Bl

12.

T T 6 o33 303 fopan ST ahd1 2 |

(A) FEME (BIOS)

(B) ®Efem=h (Hard Disk)

(C) #4913, (CPU)

(D) F.UH. =1 %91 313 (USB Flash Drive)

From the following list identify the hardware component that can be used to
transfer files from one computer to another.

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive
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13.

13.

13.

13.

13.

~

Ty OReT PE-9MTR IWNTINT TE SRS (%S AR WEeNT [l v 40
TN =D C20R :

(A) IRTFRN AT (B) rev&! == 9 s
(C) wRRE! A= (D) [ “Aigie “Fexi=

Ten SRS DGR OWONCE W SRS S[ES AESTSE NEY (AT (P
AFSN 3 =M FAR 2

(A) FRATFEAN Tl (B) rev[at @<k 9=y “I<FewrE

(C) RI[E! e (D) I “Aieiiet “<rexte

T BT RE 13T - WA (9 ~TRTT S 56 T3 @ el IRA A g S | AT @ TeH] ?
(A) HIHTA (B) Fa7e 3N fseama

(C) FTEeA (D) TRIAA

T8 THE I S I WA o TRA-TTT 5 AGHT 21 G471 T 9 G o T3R o TR idl & :
(A) FHHEAH (B) @dgel s fRats

(C) HATFA T (D) TR IS &

The range which separates Indo-Gangetic Plains of Northern India from the
Deccan Plateau of Southern India is

14.

14.

14.

14.

14.

(A) Karakoram Range (B) Satpura and Vindhya Range
(C) Aravalli Range (D) Pir Panjal Range
AP OIS P! a8 S #I72S ?

(A) <o (B) TIoER

(C) TagIR! (D) TFIRI

@ [T St “orPite “iex] Ay 1 ?

(A) = B) =

(C) T@s™ D) =T

HATATEIH ToHE TEEAEAR (BT FATaTS 8 TTE1T 7

(A) TS (B) M

(C) HUETE (D) T

HTA TR £ 1 91 T HISe T2 B 7

(A) e (B) =0

(C) =t (D) e

Which colour is not present in the Olympic Flag ?

(A) Red (B) Green

(C) Purple (D) Yellow
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15. T[T ISR T2 (20T -
(A) T o5 (B) wiwimsl
(C) =z (D) fom
15. THa A %128 29
A) ForS (B) iRl
(C) =l (D) fomi
15, TR THEEATIEE
(&) T (B) dHfeaw
(C) =zam (D) =
15. F& H1 T T2
(A) ST (B) dfeamm
(C) =am (D) =
15. The Capital City of Peru is
(A) Bogota (B) Santiago
(C) Havana (D) Lima
16. YN fIea (@ *(141e >rifeq S, fTeas Wi TYrelel SR SR T4/ 3% 2
(A) aifersy (B) Wi
(C) wrenlie fa@m (D) *WEoE
16. T NS TG T TR, Toat @32 R TR SR 7 2
(A) sy (B) wedife
(C) dEem (D) YWrEoy
16. o9 AT SOTAFAT SeH-elerdi 4 1 g9 ™, TR ™ TR STEEAEE T HET ?
(A) THTEAMT (B) Wt
(C) TsET eI (D) =T faraE
16. 99 % 3cT1ed, TIa0 STR@ T 1 318734 FH A7 A1 FTFH HH 18 7
(A) =TT (B) wefummen
(C) Tt fasm (D) AT
16. Which social science studies the production, distribution and consumption of
wealth ?
(A) Commerce (B) Economics
(C) Political Science (D) Sociology
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17. fraferers sifermm [ =refas ST oux «mief Tars 5 -
A) 5N B) SR
(C) =Tham (D) TFEREN
17. T Seafers Sifer 2t i Sia (ouR eime Tfes 34
(A) BRI (B) SR
(C) &R (D) TR
17. TTEMEE EREHH 5 S ETar 1 AR 9H1 s9eE! {94 |
(&) wgerfm (B) I
(C) HATSHAT (D) wHefaaa
17. foeraRad == 9 yhldh €71 9 T3 9 a1 eaaHd 9e w1 T8 |
VRS CLERE (B)
(C) Tfemd (D) hefmd
17. Identify the normally radioactive material in the following list.
(A) Plutonium (B) Germanium
(C) Osmium (D) Cadmium

o,

18. T (0T &lolh! *HFe [ 4= 2T 2

(A) (B) ®

C) = (D) =T
18. A (FI LTGTF W& F© &l CALFRTTG AT 2

(A) T (B) e

(C) = (D) =G
18. WA= FEEAETE A EHHETE A58 TR 91 2

(A) =15 (B) |17

(C) =6 (D) =18
18. Ficfate 1, ufq Fm frai feadi s dam 2

(&) A= (B) =

C) = (D) &3
18. In Volleyball, how many players per team are on the court ?

(A) Five (B) Seven

(C) Six (D) Eight
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19. frafefroaabmzs mmem aam Seeife faera «@ a2
(A) P (B) el
(C) =1 (D) w
19. fores Srapfere siitiefera sty (SR Seife faver s = 2
&) Pm= (B) or
(C) Wl (D) =l
19. TTEMET 99 A fearea e aEfaad ¢
@A) fag B) T
(C) =g (D) e
19. faetafgd afear 7 3 = F feaes 3 781 fwerdt 2 2
A fag (B) T
(C) =g (D) e

19. Amongst the following rivers, which one does not originate from the
Himalayas ?
(A) Indus (B) Ganga
(C) Yamuna (D) Narmada

20. IR THECTT YR GoTg ALAH = ¢

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
20. SCEH AL €Y R

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
20. SE YA GBI AT TS 97 2

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
20. T 1A ATUHH A1 2 -

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
20. Water has maximum density at

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
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21. RIS RGO &@ Meaz € 7w B FWES 9 e 2019 T SEI2 WEs
T T4 022 ?
(A) = = wieam (B) &= =M =it
(C) &= 13 @ =X e (D) & Wi S
21. Iy SwEfee @ “faaem b we @ ¢ s 9% wafTe Fa9 & 2019 Ed §oie
N0 TS 22 ?
(A) wErE e (B) o ) s
(C) ooz W wfem (D) &= AUie Wiew
21. TTEME F9 AEYTEET 3 2019 ARYTAN JoAE THEATE “IFGT 7 JYIAE FAW w@iata
TRYTHE! SEFAT JHEHE FGHE ?
(A) = i AFH (B) =T faepmar AT
(C) & & 993 A9TH (D) A TGS A9TH
21, eT F9FE 3T A ITET H qui o 6 fa Jors 2019 A fetaigd 3 9 & = F5-1 3%
FHITILT 7
(A) = IIfFa ATAF (B) =« fompma 3af9=m
(C) = 8194 7 ATH (D) T TR AR
21. Which of the following schemes was launched in July 2019 to accelerate
water harvesting and conservation measures ?
(A) Jal Shakti Abhiyan (B) Jal Vikas Abhiyan
(C) Jal Hi Dhan Hai Abhiyan (D) Jal Bachao Abhiyan
22. fufe4® (FFG! W 15 RN 493 e Sfeeam ?
(A) TEREE (B) =it
(C) wE3oIMS (D) WiKf<G!
22. foey Trafere (i 2 e Coe it A YT R ?
(A) FERIEH (B) el
(C) Twizalls (D) WefsH1
22. TTEMEM T8 ST T FFLE 1 ARl € 2
A) geEmH (B) s
(C) =STTE (D) wAEfE
22, Toefafgd A %= a1 e oy &3 3 gsaa 18 2 7
(A) geEH (B) ST
(C) SRS (D) @wEfe
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22. Which of the following locations is NOT associated with the petroleum sector ?
(A) Duliajan (B) Nazira
(C) Bongaigaon (D) Margherita

23. TR S RN #[47 € a1 F9 (GST) TR 41 (227 ?

(A) @l (B) T
(C) eI (D) WEF qFaE
23. T oG 22N A € O 9 (GST) A¥aRE Teafze ?
(A) e (B) T
(C) FFIfT! D) St
23. =9 gEUd FA RGN (AT TEE FR A T (GST) ST F1E 7
(&) e (B) ™
(C) =ret (D) iR
23. =5 U5 991 HL (5. TA.2.) FAFL B FTA T8A1 A HH AT YT ?
(A) FHAT (B) wE
(©) e D) ZTET
23. Which country was first to implement Goods and Services Tax (GST) ?
(A) Germany (B) France
(C) Canada (D) USA

24, ST AR SR 17 © 557 [ @a T2 SiEnT 11 (2 ?

(A) WPT (B) Ao =i
(C) »perel (D) 7el

24. OIFOR FEQUET 17 =1 4l (Piba {91/ @ 2 wea 2
(A) APTR (B) Uream =z
(C) =gl (D) 1<

24, TTETAN G 1 RIS WHATH S adi = @1 17 &1 Aesr g ?
(A) T ARG (B) w189
(C) g (D)

24, YA % HTITH F1 37790¢ 17 fFas e A Faga 2 7
(&) e (B) WIS
(C) F&raal (D) &t 94T
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24. Article 17 of the Constitution of India deals with the abolition of :
(A) Slavery (B) Bonded Labour
(C) TUntouchability (D) Sati
25. 1919 TS M3e<® @RI X5+ a1 R0 AXGS (2| w1/12s ?
(A) TeTG HE o2 T
(B) ¥TH% TN2F C YEHET T
(C) = fasiem
(D) SRR A5 RS Ko
25. forcy Trat<e @R X515 1919 @ wxfhe =i ?
(A) FIeFH =% “
(B) WTH% GHTFG AR e 2R 2H
(C) orew
(D) SR SH R 7 S O
25. TTEME 59 FTEEAT 3 1919 ATUTEE TEARHH ?
INBRASCACLEREIREIEID (B) HI¢H — IERIEA HEETHE
(C) = IRGTIAHE (D) SrAATETE SF FAREAE
25. frefafea B a®E Haea 1919 AT g1 7
(A) Tore uFe Tiiea fepan (B) W ITHBIE G 1 G HI1T3
(C) =TT 1 Ta9TSH (D) SeFET 97 H1E
25. Which of the following events did NOT take place in 1919 ?
(A) Rowlatt Act was passed
(B) Montagu — Chelmsford Reforms were announced
(C) Partition of Bengal
(D) Jallianwala Bagh tragedy
26. oo @F 2R TeRE eElor M (Economic Survey of India) 2

B2

(A) FZR T “fa% (National Development Council)
(B) fa@ <% (Institute of Finance)

(C) TRer “faey efewM (Indian Statistical Institute)
(D) Ta€ wZe#R (Ministry of Finance)

oPID)
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26. Iy Srafrema ¥u (Wb res weftnies wN e (Economic Survey) &< 5T ?
(A) Trer Tme 4% (National Development Council)
(B) 9@ % (Institute of Finance)
(C) Srrer i<y %K% (Indian Statistical Institute)
(D) 9@ w@es® (Ministry of Finance)
26. TTEMEE SHE ST SHA 0P A HB FeA @1 fegAr ?
(A) BT ST Tﬁ'ﬂ'ﬁl (National Development Council)
(B) SEISIE A H1EHE
(C) Fremm wfchiesda s=ier:
(D) fufafa 31% w1339
26. TrefERad 7 3 %19 WRA 1 ST1H I TH1I6 FLa1 2 7
(A) T TaE TEE (B) foadmIm
(C) 9RHE ARgshE Jw ™= D) faamTeE
26. Who among the following publishes the Economic Survey of India ?

(A) National Development Council (B) Institute of Finance
(C) Indian Statistical Institute (D) Ministry of Finance

27. fyferre @ =i wdfiifos Sesimasiie Jwee Fma Wiy ¢ fxge tasieq 2roe

o[ ?
A) WESEF (B) ~feamt
(C) = (D) TS
27. Tty SEire on wdiieres W SeHmeEE wen ARas WiiEee e @3 orEe
o[ ?
(A) WEeEs B) “fEamt
(C) ffers (D) T@e
27. TTEE F9 W AT g4 fasma mas fegaam™ Fet $rg! SthistT amadT ?
(A) AHTETG! (B) H=Te
(C) TTAR-AR TG (D) HHEA @
27. ToeraRgd ¥ A fHa sAd9ma 4, 941 3caTesh 99199 THR & ST IR Ed & ¢
(A) FATIETE (B) STl
(C) fafaa (D) c=d
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27. In which of the following economies, all productive resources are owned and
controlled by the government ?
(A) Socialist (B) Capitalist
(C) Mixed (D) Dual
28. forafeT <o (TR 2T T2 AR 1942 11 SIS Oif9l SITHER WS F2e ?
(A) @S “iF (B) J_CAR BN
(C) 9% F e ®me (D) @5y
28. o0 SCaEf4S (B ETT 1942 S Y2 S 71! SIS Bity! STHien Sas 2@iee ?
(A) T «i1F (B) IR OHFERN
(C) 19PD T SHR (D) @5 e wTw
28, TTEEA F& A6 HECH THIHT ‘WRG AFR GHEERAE @13 1942 Aa@E SrE
ST ?
(A) Toresfi (B) saH wfezm
(C) FATIE Hiid AgH (D) wtd #gH
28. F9 1942 H FETATTET GRI HTA BIS] EeH (=raad H o o ™ T I& [HarTan g ¢
(A) o 7wk (B) wdH wfead
(C) ST i HeM (D) wfd A=
28. In which of the following locations was the Quit India Movement launched by
Mahatma Gandhi in the year 1942 ?
(A) Shivaj Park (B) Brabourne Stadium
(C) August Kranti Maidan (D) Pragati Maidan
29. 2022 TeId SR W2 SRR, IAETHSS AW FTF S 26 T (202 2
(A) 6= (B) e
(C) <rerEH (D) T@ 2
29. 2022 1A TERIHACS @ A0 AR A6 SF 23 2
A) =G (B) Wi
(C) drezH (D) Ted v
29. 22022 ARYEH THA gHITATE YRA - o8 TS a] Fae - T8 964 A9 53 -"g 381 ai a4

arag?
(A) FHAEHT (B) TET eI
(C) TS=H (D) ITIEA

oPID)
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29. FHAL 2022 T, T 94971 Al =l ATl T3 2 :
(A) =FARH (B) eI T
(C) TI™™ (D) I
29. As of January 2022, the state which has the maximum number of seats in the
Rajva Sabha, is :
(A) Karnataka (B) Madhya Pradesh
(C) Rajasthan (D) Uttar Pradesh

o

30. TG IGF AESIOTS (B TITS S TN Fa(=e ?

(A) = (B) =T
() frezs (D) *WEEY
30. T AGE AGTHCA 2SR e TS “ifia Fearzcew 2
(A) == (B) =i
(C) Toped (D) *WEL™
30. = TEF 3T R T4 GUTEH F9718 SRa3E gEa™ HaHHE ?
(A) w¥ET (B) 319
(C) fasprea (D) =
30. Tod TS % IMMEFHTA o GIH &4 9F1 HRG AT 7
(&) FIE (B) ¥
(C) famr= D) FFIS
30. Hiuen Tsang visited India during the reign of the King :
(A) Harshavardhana (B) Ashoka
(C) Vishnugupta (D) Samudragupta

31. WZEM Hive W WA (ol 577 (575%) Lo -

A) faEeE B) Tl

(C) 2R™EI™ (D) =
31. W=V v *0aF ST (ol orm (%) S_rgs

A) faEeE B) frat

(C) ZRTHEM (D) TSI
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31. HTEEE ATee ITEr STel AT WTEHL, e THST (17 HE) AEG |
(A) ST (B) feeeft
(C) TemTe (D) T
31. TATsE (o), awe 3feet ITs T ashaw f&yd 2 -
(A) ST (B) feeeft
(C) zeuETg (D) A
31. The Gol Gumbad (Gumbaz), the mausoleum of Muhammad Adil Shah, is
located in :
(A) Biapur (B) Delhi
(C) Hyderabad (D) Bhopal
32. SRR NP fwin TAI0H W@elTR Soniare 2|l UDAN © ‘A’ (b7 s @eithi {5 2
(A) =¥ (Aam) (B) @¥IE (Air)
(C) =3 (Aakash) (D) «feRE*= (Aviation)
32. TSR NS [aWF THLE W@oleRd Tonitdl I9@e ‘UDAN *@itbre ‘A’ 3¢5
CIRNRT ?
(A) Aam (B) Air
(C) Aakash (D) Aviation
32. 9T faiye wyues fafafert gae UDAN g9m@ e/, ‘A° 31 91 g9 ?
(A) ™ B) ™
(C) ™ D) T
32. YA % AR Ig2aH Wed %1 T8e, ‘UDAN HA’ 1377 37¢ 2 7
(A) Aam (B) Air
(C) Aakash (D) Aviation
32. What does ‘A’ stand for in ‘UDAN’, the initiative of the Ministry of Civil
Awviation of India ?
(A) Aam (B) Air
(C) Aakash (D) Aviation
33. %10 @4 (63 I&Iq YEIRAT TS TS (2T 2ol TOR (AR (G 5 2

(A) @R ®B) BTes
(C) Tz (D) T
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33. % 10 3P (3 5IFE IS NEREIT A0 (T SIFToR 2o 22w T7iTe = ?

(A)  GXHGE B) BH1an
(C) Tz (D) TFEE™
33. %10 9@ 1S TR S04 TH] F9 S A1 FT5i a9 SHari e 2
(A) TIEHA (Airtel) (B) o #iwm (TCS)
(C) fa91 (Wipro) (D) T=m@E (Reliance)
33. HMH I HI T 10 ARG HUS FISR oA 1 162 LA AT Taei] TRAT T q7 78 7
(A) TEHEEA B) dHiw™
(C) famn (D) T

33. Which company became the first Indian company to hit the ¥ 10 Lakh Crore
market valuations ?

(A) Airtel (B) TCS
(C) Wipro (D) Reliance

34. =% (b efev] = ATF e -
(A) SIS ATHFE [ THIS TESSI2 (55

(B) o=l 12 Sife SF ORI TH 9]
(C) ©are PR o IS aF
(D) wfoae @z i< Taaes wi

34, =S wel oV FAZCE
(A) TINAIS HTFTFT 4R TWF IFTS12 A
(B) el SRF {5 @32 AR TH 3

(C) 5© PR2 OR AGLF

(D) feae GiasE @3k Tedaee ws

34. @S EFRE I ARTTTEEAEHE ?
(A) U ATSH IR AER TeaaqqTs Ted
(B) 3TETI TS 37l 3T GHTY I 314
(C) wTaieE S THE
(D) AT T8 AR Ty o
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34. TS A HI ©THI [ GRIH1T3 &7 7
(A) HHE FATSH TR FER Toa|uTs Ted (B)  HE0N ST 371 TR gTHg 319
(C) wraieE 31 THE (D) HTeTet TEE 3 e g
34. Swaraj Party was founded by :
(A) Bhimrao Ambedkar and Sardar Vallabhbhai Patel
(B) Aruna Asaf Ali and Subhash Chandra Bose
(C) Bhagat Singh and Rajguru
(D) Motilal Nehru and Chittaranjan Das
35. TOR AW (PG R X, Tife, ¢, forer v Targm fefew e v
ez e s 2
(A) =FT=w 25 (B) =e0=v 13
(C) =F=v 15 (D) =E=v 19
35. SIgeR FRIET @ Uaite ™, wife, ¢, fomr e saziE fefers (o Fave facy
2@/ ?
(A) 25« =l (B) 13== @i
(C) 15+l (D) 19+= 4=l
35, WHATH AfErag- 99 @A 9RME, B, BE, AWHE AW JTEME A=TT F@EE
AAETRE | 21 2T ?
(A) |1 25 B) w1 13
(C) w1 15 D) |1 19
35. YRAE A H1 B A1 Jo¢ 94, gora9], Fhd, foF 3R TH ¥ $ IR T HHE H1
Tl ?
(A) #HIT 25 (B) g=E 13
(C) #F=ae 15 (D) T2 19
35. Which article of Indian Constitution prohibits discrimination on the grounds

of religion, race, caste, sex and place of birth ?
(A) Article 25 (B) Article 13
(C) Article 15 (D) Article 19
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36. T« w@eeR wEs FRK! TG Wi, @b “pie” HTFE e wyw AR ?

(A) Frg = /<R Felel FFER
(B) SN NEIER
(C) ieell o e S YgeoieR
(D) FE 5P(7 TR IR
36. RIS NFIERE @G TG A0IS @b Auls” AT N0 FRYF R ?

(A) = s “(fFa[ Tl YZelFR
(B) &NNIERE NEoR
(C) Nfze e M Tme YaeeR
(D) VFT 77 TR NZ TR
36. TTEEE EFE §9 W1 faBHaT “5 sa13A1, 5 TQIAT AEYE i geres dAreanian ?
(A) AEfE 3R @ 39973 T faeE (B) TITH3ITH STFTITS W1 T9%H
(C) FENFNGE A STHEEIfTER (D) I o9 SR wi faeE
36. faeAfafEa d 9 ®F o e 38 53131, 98 T A1 H T 9 IR 8 7
(A) TERF FAR TER HeA =TT (B) uTHm faeta e

(C) Afgen vd aTe fasd THTed (D) °He Fa o wmeE
36. Which of the following ministries is NOT associated with the initiative of
“Bet1 Bachao, Beti Padhao” scheme ?
(A) Ministry of Health and Family Welfare
(B) Ministry of Rural Development
(C) Ministry of Women and Child Development

(D) Ministry of Human Resource Development

37. oW fifses vaifamer § © 99Es -

(A) eTe (B) wiw3b
(C) warzh D) fe=ry
37. oI Ui wafER & -
(A) T==wa (B) WAzl
(C) @D D) fT=ely
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37. HEM Hehd HUFET A= 981 € 2

A) faemt (B) &M
(C) TATEd D) fes
37. 99 AfEHd HicTs (Iq 2 -
(A) faer (B) SrER
(C) TaTErd D) fere
37. The Assam Medical College is situated in :
(A) Silchar (B) Jorhat
(C) Guwahati (D) Dibrugarh

38. ST TIFER SIS (FEI N5 THRY 5 FRIT 0100 &0 ?

A) o (B) sffaozme

(C) fefEmazmE=m (D) el TERE
38. ST AIIAT TTILsl N TR FRILA 0 RIF ?

A HEmE (B) “fzmel

(C) fofepmzre™m (D) Gl TERA
38. WHA AR A, [H9F 359IE], TR TS A6 G ?

(A) EFEIHEE (B) 9@ fa@H =™

(C) HAFTAEHEEHTE (D) T ATH IS
38. THYA Iy, YRd AR A fFA T2 F a9 Je1 2 7

(A)  FHERT (B) w==dl

(C) fefseefmm (D) TSHF faTE

38. The mission Indradhanush, an initiative of the Government of India. is
assoclated with :

(A) Immunisation (B) Cleanliness

(C) Daigitalisation (D) Highway development

P

39, TS E SRS ZRR TIPSR [T FRDT I T ?

(A) Tl — SNERY (B) Rl — =W
(C) =TGN — Tmatet (D) sfefz — S
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SLRC-2022/P-I11/C 26 %%



39. FI Sr@Ee oo (dance form) S O S ATSIT TN N0 (Fe (FTHH ST 2

(A) I — SfNERg (B) &I —=H

(C) =TGN — T (D) <fef — Tfom
39. TTEMEE BFE 9 SET AEHEE H1d 3T T8 3713 Wit TREemn ?

(A) F&ETI — A AT (B) =HT— 9™

(C) Hifafisrga — shiet (D) afeHt — sfem
39. faefdiad 9= o1 31l Je3 F11 3R 37 Ja U531 % Jed 479a 8 7

(A) FeFTH — AHAS (B) =T — EH

(C) #Afafiargd — +:3c (D) e — 3TTem

39. Which of the following pairs is INCORRECT with reference to the dance
forms and their native states ?

(A) Yakshagana — Tamil Nadu (B) Sattriya — Assam
(C) Mohiniattam — Kerala (D) Odissi — Odisha

40. SPRE GG IR 35T (Ramsar site) TR (202 -

(A) T e (B) el

(C) THTafa (D) fo==Toeami
40. SMNT GG AT AZ5 (Ramsar site) %??ﬂ'_\gﬁ 267

(A) T iae (B) qTHeR]

(C) TFga (D) TozIpeam
40. TTETATE 2FE F9371 FEMEA AFSA Ramsar site f5@T |

&) g fae (B) weeH!

(C) =fgstfae (D) feg-d@mn
40. 3799 9 THAE TH A5 AR 2 -

(A) Team e (B) =RGIAHT

(C) =gl & (D) feg-d@m
40. The only Ramsar site wetland in Assam is the :

(A) Deepor beel (B) Bordoloni

(C) Chandubi beel (D) Dibru-Saikhowa
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41. €51 A fages e (e 6 ©.f. | fagstr 23

(A) 6.2 B) 6 w.f.2
(C) 3wh2 D) 3 w.f.2
41. @35 s fagres «f44 6 erfv: | fagsha weawe 2 -
A) 62 (B) 6 mifx.2
(C) 3.2 (D) +/3 w2
41. AFATRE JAETY g Arfrie faamn 6 9.fa. JEEa 3 @ gTH+ geamsa
EER
A) 6 @fm)? B) V6 @.f1)?
(C) 3 @f3)2 D) 3 @fa)?
41. UH TGHEE FYS H1IEAT 6 F.H. B | S B EAFA 7 -
(A) 632 (B) /6 &2
(C) 332 (D) +/3 &2
41. The perimeter of an equilateral triangle 1s 6 cm. The area of the triangle is :
(A) 6cm? (B) \/E cm?
(C) 3 cm? (D) /3 cm?

42. J0.04 ++1.44 +1.69 +0.0009 7 ¥ 7202 :

(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03

42. 0.04 +1.44 +V1.69 ++/0.0009 GF Y :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
SPACE FOR ROUGH WORK
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42. 0.04 ++1.44 +/1.69 ++/0.0009 T3 am=11 S15=
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
42. 4/0.04 ++1.44 +41.69 +/0.0009 FTAFZ :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
42. The value of 4/0.04 ++/1.44 ++/1.69 ++/0.0009 is :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
43. TIG @F AT 45% T W S 20T G5 30% T e | 22 F FOR TR SF] 1S
[
(A) 2:3 B) 3:2
(C) 3:5 D) 2:5
43. QT RAE 45% BF GFH WA 30% AT AW | 2en weio ek e Aze
el
(A) 2:3 B) 3:2
(C) 3:5 D) 2:5
43. AFA FATANA 45% T ATAG AFE FATETH 30% S FHH AT | WS AW AY
EEIEE ERFOIERIRSIEIP)
(A) 2:3 B) 3:2
(C) 3:5 (D) 2:5
43. U FEAIH] 45% T T 30% % F9M 2 | TEei ST 1 gl ST 9 I 8 -
(A) 2:3 B) 3:2
(C) 3:5 D) 2:5
SPACE FOR ROUGH WORK
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43. 45% of a number is same as 30% of another number. The ratio of the first
number to the second number is :
A) 2:3 (B) 3:2
(C) 3:5 (D) 2:5

44. @5 R (oS F A 98 B B [[Uaal (22 | 2t O o 912 AW FEh S 2 3 A
HRJR e “INITE BiEra Si9l #(12(%, (08 WHlb e 20756 31 q1F 5 (202
A) 5 (B) 7
(C) 10 (D) 14

44. 9815 5fF (toffees) 9 WaT (=raTd W2 (o0 A (8% T51 | T6T LTSIPO (RCE, Folbd
ST RATIE 7229 B (toffees) T9# | HolHTS (RLETHA ST SR2! 2 -
A) 5 B) 7
(C) 10 (D) 14

44. THE AT @HEE BEETHIAT 98 oAF (toffees) T FGHM | F SIATT BETET 9% AT
SEAITE YA EAETERA AT 2 79 AF AeEE | SAE 9 EEEThR A
ST AT ?
(A) 5 (B) 7
(C) 10 (D) 14

44. TH 99% H TS AH] 1 98 THAT A 713 | FHE & TcIH AISH 1, AISHI sh1 I F SIIAT
ST e A e S
A) 5 B) 7
€) 10 (D) 14

44. 98 toffees were distributed to some boys 1n a group. Each boy in the group got

twice as many of the toffees as the number of boys. The number of boys in the

group was :

(A) 5 (B) 7
(C) 10 D) 14
SPACE FOR ROUGH WORK
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45. AW cos B = %, (S(® sec B T« :

2 1.2
-b
A Y22 B) -
(A) b (B)
(C) Va®+b? © —
a+b
45. ﬂﬁ?cosB:%,WsecBu‘]ﬁW‘{ﬁ:
2 1.2
_b b
a 2 B) -
b a
(C) vaZ+b? (D) b
a+b
45. ﬁcosezg,mseceﬁlﬂﬂmm
2 1.2
_b b
@ B) -
a
(C) +aZ+b? D) b
a+b
45. ’JFECOSBZ%,FTTS(%CBWW@'FTT:
2 _p? b
a X2 (B)
b a
(C) +a’+b? (D) b
a+b
SPACE FOR ROUGH WORK
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45. Ifcos 6= E,then the value of sec 6 will be :
2 2
-b b
a) 2 ®B) -
b a
(C) VaZ+b? (D) b
a+b
16, |22 _ =0 —,/anﬁcﬁqw |
729 144 81
5 7
A — B) —
(A) 9 (B) 19
20 11
C) ——=— D) ——
© 27 @) 36
a6, |22 |2 10 gqum
729 144 81
5 7
A — B
(A) 9 (B) 15
20 11
C) — D) ——
© 27 @) 36
225 25 16
46. 1/ —. —,}—ﬁmf ?
729 144 81 et
5 7
A — B
(A) 9 (B) 19
20 11
C) — D) ——
© 27 ®) 36
g6, 220 |20 —,/E %1 A 719 110 |
729 144 81
5 7
A —— B _—
(A) 9 (B) 19
20 11
C) —— D) ——
© 27 ®) 36
SPACE FOR ROUGH WORK
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46.

Find the value of 225 — ,dﬁ — 16 .
729 144 81

A 2 B
(A) 9 (B) 12

20 11
C) = D) ——
© =5 D) ~5

47.

47.

47.

47.

‘A ® @I P AR o[ R 1:00 I@® 1 . /@t @69 1@ kS F9E | B &
O ZF P T 71 G5! e TR/ife 1:10 I5@ 2 . /T (@957 qd WS F<ee | 4
B & AT QETS % 4R, (9% PQ IR 2 o :

(A) 1.5fFf. B) 1.75 %M.

(C) 1.27=.M. D) 1.25 M.

‘A’ ©fF 9@ P % 2tF [9ee 1:00 <R 2fe oracs 1 (o ook wF 99 |
B faeaa 1:10 xR @52 a2 P 120s @52 e ofs oraty 2 bR woor U@l
wFE T | AV B, A’ 9T H2e Q W e = w5 PQ T

(A) 1.5 B) 1.75fsf.

(C) 1.27=.M. D) 1.25 .M.

‘A’ 31 P SET%T 1:00 fa.wa. farmma 1 (0./5%<) @ryTEsl gEadl | ‘B 36§ 9 W@
ST P fema s we fanma 1010 faum. formma 2 fo. /4% @rytEst gEam | 3 B
ITA’ @I Q 3TE AT AR, PQ T4 STHI 181 Sam

(A) 1.5fwf (B) 1.75f®.fa.

(C) 1.2fk.fa (D) 1.25fF.14.

‘A’ TTE 1:00 5191 3T FAET ™MW P A 1 #1. /3. 1 fd I 3% Har 2 | B A= I@T 39
T P o 31 3 feom 9 gt 1:10 =91 2 91 /9. 1 71d 9 = &t 2 | Ag B, ‘A9 Q
T RAaq e, aIPQF gl 2:

(A) 1.5f%. B) 1.75f%.4.
(C) 1.2 T4 D) 1.25f%. .
SPACE FOR ROUGH WORK
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47. ‘A’ starts his journey at 1:00 p.m. from a location P with a speed of 1 m/sec.
‘B’ starts his journey from the same location P and along the same direction
at 1:10 p.m. with a speed of 2 m/sec. If ‘B’ meets ‘A’ at the location Q, then the
distance PQ 1s :

(A) 1.5km (B) 1.75 km
(C) 1.2 km (D) 1.25km

48. THT OF AWET Yo &2 40% P I T WF O 7 20% Iwm T 2 | T W
ol “{faTe 2z
A) 20% (B) 40%

(C) 24% (D) 28%

48. Q5 WA YF 2 40% AT 25 9T ST 20% e Fa1 291 | \e0a @i a6
o0
(A) 20% (B) 40%

(C) 24% (D) 28%
48. AW FATE T FEAT T 40% GHET R A6 20% FRAT | 5416 F69-71 AEEE
oY S el AeTFE ?
(A) 20% (B) 40%
(C) 24% (D) 28%
48. Uk TG %I %M 4 781 40% =1 HHI I J1d1 2 3R B 20% H1 A5 H1 @l 2 | HAg 0

@Eqﬁaﬁ?‘@m:

(A) 20% B) 40%
(C) 24% (D) 28%
SPACE FOR ROUGH WORK
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48. The price of an article is first decreased by 40% and then increased by 20%.
The net change in the price will be :

(A) 20% (B) 40%
(C) 24% (D) 28%

49. a2 it ofer @=F 53 @wE oWl 9 Ate efehing off ot =t @1 s
HsfeTess T 12 (@% | 3% ©fF 2o mf T 12 (@ o3 3RS 34, (S0% 30 79 o8 oy
AT w1 AT
(A) 5,420 (B) 5,580
(C) 75620 (D) % 5,780

49. foTel OF TN “roR QRO TR A (A el ofF 1 Al e o 2t T 12 Bl
T R | A of ee T 2 12 Bl i R s wea wd ferea ool vRex 30 frma e
204
(A) %5420 (B) % 5,580
(C) 5,620 (D) 5,780

49. TASTETEMA gRYHE 5% (Savings Bank) 37 U AT | 5 SRYHAE fS=1311 9% a1
A FRTAFE SAYAAE Toa1 g3 3 12 T a1a" STE1 9™ | Jie 313 12 T 99 a5/
TRGEATEE | SFTETRA 9F 30 T SEAEmE feaai gag At 1a faans s =
(A) T5,420 (B) 5,580
(C) 5,620 (D) %5,780

49. ST HIH 990 9 H 39 @ & TH1 1 BAT 2 19 B I T 3|1 571 W 39 T

feasiam afa a3 12 379 21| I 978 T fea T 12 A1 A1 2, a1 ot g 30 fear =

(A) %5420 (B) 75,580
(C) 5,620 (D) 75,780
SPACE FOR ROUGH WORK
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49. Liza deposits money in her savings bank in such a way that every next day
her deposit amount is ¥ 12 more than her previous day deposit. If she starts
her deposit with ¥ 12 on the first day, the total amount deposited by Liza at
the end of 30 days will be :

(A) 5,420 (B) ¥5,580
(C) 5,620 (D) ¥5,780

50. 2790 (Data Set)
1,2,4,1,5,12,7,8,5,1,16, 17, 12

T feyefy < |
A) 8 B) 7
©) 5 (D) 4
50. 201 ST W 1y 9 ;
1,241,512, 7,8, 5, 1,16, 17, 12
A) 8 B) 7
(C) 5 D) 4
50. TTEMETE 2FE G THERA TS E 1 A1 |
1,2.4.1,5,12,7.8.5, 1,16, 17, 12
(A) 8 B) 7
(C) 5 D) 4
50. 192 1 ATETHT G SHiraT |
1,2,4,1,5,12,7,8,5,1,16, 17,12
(A) 8 B 7
(C) 5 D) 4
50. Find the median of the data set.
1,2,4,1,5,12,7,8,5,1,16, 17,12
A) 8 B) 7
©) 5 (D) 4
SPACE FOR ROUGH WORK
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51. 2T B9 HECs O 1 AT, 3 T3 299 0o Ol 2 2/l B 4 (7 2 FC O
3 2/l (12 R TR :
(A) 25 (B) 41
C) 13 (D) 11
51. GFb T 2 5! TSl FaCa 6 1, 3 GIF1 Tl6l Fa0a1 ©9 2 ©32 4 741 Sl Fa05
ST 3, TR
(A) 25 (B) 41
(€ 13 D) 11
51. TOHE IFATARET 2 N THEME TR FEE1 9@ 1; 3 I T T8 FET [T 2 3710 4 F
T T =T AT 3 | & 3 S = S
(A) 25 B) 41
(C) 13 (D) 11
51. U g1 we 2 F faqiisa &l 8, 91 I9%et 1 War 8; 3 & Wi &4 W 2 I 5=al & A4 F
YA IR 3 I AL, T2 2 -
(A) 25 B) 41
(C) 13 (D) 11
51. The number when divided by 2, leaves remainder 1; when divided by 3,
leaves remainder 2 and when divided by 4, leaves remainder 3, 1s :
(A) 25 (B) 41
(C) 13 (D) 11
52. T OF S 719 3 I #1031 S R Foft vglien Im «Ix | SeIHGR F49 W
5?1 :
(A) 3 (B) 4
©) 5 D) 6
SPACE FOR ROUGH WORK
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52. GG AR T 3 7! e Fae SIS TIF Sitaa e e = | SHieiBa «19 -

A 3 (B) 4
€) 5 D) 6

52. HHE SRR R (fraction) TFSIUMAT (numerator) 3 AT ¥ SRgTE eIT Tara
3/4 SRET | ¥ IGTHG 7¢I H TATRET AT

A) 3 (B) 4
©) 5 D) 6

52. & fehel fo=1 s A 3 F A g Al 2, AMfam A dH-TuE F g e 2 | = 3w
A) 3 (B) 4
C) 5 D) 6

52. When the numerator of a fraction increases by 3, the fraction increases by its

three-fourth. The numerator of the fraction is :
A) 3 (B) 4

€) 5 D) 6

/1 /1 [2 i~
53. L= . .|=. 4= W S W IR
2" V3" V4 3 A !
2 1
(A) 3 (B) V3

1 1

Q) L= D) |-

(®) 3 D) 1
SPACE FOR ROUGH WORK
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53. L=, =, 4= 9T L[S QTG HTN
2° V3 V4 3

A \F B |1
(A) 3 (B) 3
1 1
(C) \/; (D) 1
1 1 1 - |2
53. \E \/; \E a:m\/;ﬁtr@afwﬁmw
2 1
(A) J; (B) 3
1 1
(®) \E (D) "
53. \/I \P \P ﬁﬁgﬁ‘qﬁﬂﬂ‘@rm\ 2.
2 3 4 3
2 1
1 1
(C) 3 (D) "

53. The smallest among \/I, \P, \/i and \/g 1s :
2 3 4 3

(A) \F (B) \/T

3 2

1 1

Q) L= D) |-

(©) 3 (D) 1
SPACE FOR ROUGH WORK
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54. WG! YRR FAALG. 40 WF HEeq AT, 4 | FRAMGE A 12 2@ HEed Qs
Q’q :
(&) 20 (B) 24
(€) 28 D) 32
54. 20 YR AL, 40 Q32 91T, 4, A = 720 “1efF 12 T A ©Td Q5
(A) 20 (B) 24
(C) 28 (D) 32
54. AR FAFATA g9 (LCM) o1 SEE 40 HR s@7H ¢ HLAL (H.C.F.) 71 =/ 4 |
e & AT A TS GHE BRATSAT 12 S, 36T & A T AHA A ST
EER
(A) 20 (B) 24
(C) 28 (D) 32
54. T HEATH 1 UA.HLUA. 40 & AR 3761 T HLUH. 4 2 | Ag o FATHA] o o= T AR 12
3, AT IR HTIM 2 :
(A) 20 (B) 24
(C) 28 (D) 32
54. The LCM of two numbers is 40 and their HCF is 4. If the difference between
the two numbers 1s 12, then the sum of the numbers is :
(&) 20 B) 24
(C) 28 (D) 32
55. \/51 4134 + 5942+ V16 + /9 T -
(A) 52 B) 8
(C) 19 (D) 9
SPACE FOR ROUGH WORK
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\/51+\/134+5\/42+\/E+«/§ e i == -

55.
(A) 52 B) 8
(C) 19 D) 9
55. TTEMEE 8[E UM 914 feg |
\/51 /134 + 542 + V16 + V9
(A) 52 (B) 8
(C) 19 D) 9
55. TveAtEa
\/51 134 + 542 + 16 + V9
FIAAE :
(A) 52 (B) 8
(C) 19 D) 9
55. The value of the expression
\/51 134 + 542 + V16 + V9
18 :
(A) 52 (B) 8
(C) 19 M) 9
56. WE© GO R AW 7 (A0 41 TI<hT FNF TRAF Q@5 64 | SRATFE A3
NS 2T CR0R
(A) 13 (B) 11
(C) 16 D) 9
SPACE FOR ROUGH WORK
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56. TEMD ATTF 7S] TN (consecutive alternate) YR#I1F QI9F 64, GTAT WA T TSN
G -
A) 13 B) 11
(C) 16 D) 9

56. TS HIN ST A ST SIATRTTEAT SEE 64 | 5= Arers fHat e 313 @ S
(A) 13 (B) 11
(C) 16 D) 9

56. TR FATTA UG SEAT 1 AT 64 2 | 399 & 999 DIE A& 2 :
(A) 13 B) 11
(C) 16 D) 9

56. The sum of the four consecutive alternate numbers is 64. The smallest
number amongst them is :
(A) 13 (B) 11
(C) 16 D) 9

57. 5! YR 2 ;3 AT W WF H2od A.97.%. WF 99,8, T 7T (22 96 | Rl
5 (IR (2R
(A) 8 (B) 12
(C) 20 (D) 36

57. 720 SRAA TS 2 1 3 9T OTE AL, AR L8, €T YT T 96, A 720
CAI19TeFeT 257
(A) 8 (B) 12
(C) 20 (D) 36

57. HHA FATSATT FIJUTEA FEA 2 ¢ 3 FW FEARA g.3LAT (LCM) HAT €.3.91 (HCF) 19

ST & 96 | & T 374114 g EE ] fag |

(A) 8 (B) 12
(C) 20 D) 36
SPACE FOR ROUGH WORK
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57. TIHEAT 2 : 3% FFIE H & 3R 376 LCM 3R HCF H177%d 96 2 | &A1 H1 3 &
(A) 8 B) 12
(C) 20 (D) 36
57. Two numbers are in the ratio of 2 : 3 and the product of their LCM and HCF
i1s 96. The sum of the numbers is :
(A) 8 (B) 12
(C) 20 (D) 36
58. ‘A’ IaNE B OlF 25% (A7, (Or% B’ T WLl ‘A’ T AN [l *oien N 29 ?
(A) 20% (B) 25%
© 1210 D) 16Z%
] L— /0 — /0
2 3
58. W A’ B’ (ATF 25% (M1 (o “IR O3 B9 (TS ‘A’ (2ITF T #1012
(A) 20% (B) 25%
(€) 121 o D) 162
] L— /0 — /0
2 3
58. g A T3 593311 B 7 suarwgs 25% =iaq, 35 B 9 397311 A 14 39453 59 @l
©a?
(A) 20% (B) 25%
© 1210 D) 16Z%
] L— /0 — /0
2 3
58. 3G A 1909 B % 504 H 25% A4 2, 91 B 1904 A % a4 A foraaafaea 4 2 7
(A) 20% (B) 25%
(€) 121 o D) 162
] L— /0 — /0
2 3
SPACE FOR ROUGH WORK

Op0)
SLRC-2022/P-III/C 43 ].EI% P.T.O.



58. If the salary of A is 25% more than that of B, how much percentage is the
salary of B lower than that of A ?
(A) 20% (B) 25%
/ L— /70 — /0
2 3
59. A= ﬁ , (o0 ad + % A (T :
x
1 1
A) 9— B) 2=
(A) 9 (B) 9
1 1
(C) 93 D) =
59. AMa= 3@ at+ % QTN -
x
1 1
A) 9— B) 2=
(A) 9 (B) 9
1 1
(©) 93 D) —
_ A 1 T
59. Fex= 3, et + — FamsnIm=
X
1 1
A) 9— B) 2=
(A) 9 (B) 9
1 1
(C) 95 (D) 9
59. Aex= /3, Aot + % FIAFEE
X
1 1
A) 9— B) 2—
(A) 9 (B) 9
1 1
(©) 95 D) 3
SPACE FOR ROUGH WORK
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59. Ifx=+/3 _ then the value of x* + % 1S :
X
1 1
A) 9— B 2—
(A) 9 (B) 9
1 1
(&) 95 (D) 9
60. L=V _Z% (org 1TV TE oy
3 4 7 2z
A 1 (B) 3
(C) 2 (D) 4
60. 2=V _Z e LY TE g ome
3 4 7 2z
A 1 B
©) 2 D) 4
60. 3z =Y -2 seen XYY Z frqmmmame
3 4 7 2z
(A 1 (B)
©) 2 D) 4
60. 3fc xX_Yy_z a1 Xtytz IR
) 3 4 7 2z ‘
A 1 (B) 3
©) 2 D) 4
60. If gz ?I zé, then % 1s equal to
7 z
A 1 (B) 3
(C) 2 (D) 4
SPACE FOR ROUGH WORK
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From Q. 61 to Q. 66 : Choose the correct options which best explains the meaning
of the given idioms :

61. “To split hairs”

(A) To quarrel bitterly

(B) To complain about every small detail
(C) To argue about trifles

(D) To study every detail minutely

62. “Nail the lie to the counter”
(A) To blame a person for something (B) To expose publicly
(C) To investigate an allegation (D) To lie vehemently

63. “To see red”

(A) To be mad with anger (B) To see danger
(C) Sunset (D) To be drunk
64. “To hit below the belt”
(A) To trick the opponent (B) To defeat the opponent
(C) To take bribe (D) To act unfairly in a contest

65. “To beat about the bush”
(A) To prune the bush
(B) To approach a matter directly
(C) To approach a matter in a roundabout manner
(

D) To discuss a matter endlessly

66. “Bird in hand is better than two in the bush”
A) Probability is better than possibility

B) Certainty is better than possibility

C) Possibility is better than probability

D) Probability indicates certainty

(
(
(
(

67. Choose the correct order to complete the sentence :
[.  TIsmelled the gas
II. Door of my house then
III. As soon as
IV. I opened the front
(A) LI II0, IV (B) II, IIL, IV, 1
(C) IILIV,IL I (D) IIL IV, I, II

@i
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68. The following sentence is divided into four parts. One of the parts has an

error in it. Read the sentence and find the part containing the error :

“The movement which aims at
(I

raising awareness about climate change, hopes

(1)

to bring people together to think about
(IIT)

what they can do for reducing harmful pollution.”
(IV)

VY (B) III
(€) 1 (D) I

69. “For the little boy, a lolly was tangible, whereas a promise was not.”
The word tangible in this sentence means
(A) Basic (B) Untouchable
(C) Actual (D) Edible

70. Which among the following options is correct ?
(A) My thoughts are with the families of those who have lost their loved
ones in this unfortunate accident.

(B) My thoughts are with the families of those who has lost their loved ones

in this unfortunate incident.
(C) My thoughts are with the families of those who have lost their loved

ones 1n this unfortunate events.

(D) My thoughts are with the families of those who have lost their loved

ones 1n this unfortunate incidents.

From Q. 71 - Q. 73 : Insert the correct options in the blank space :

71. On the moon, air because the Moon’s gravitational field is too weak

to retain an atmosphere.

(A) thereis no (B) where no
(C) no (D) 1gno
(5]
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72. in front of a camera lens changes the colour of the light that reaches
the film.
(A) Placed a filter (B) A filter 1s placed
(C) A filter placed (D) When a filter placed

73. In 1850, Yale University established Sheffield Scientific School,

(A) engineers were educated there (B) where engineers were educated

(C) 1in which, were engineers educated (D) where were engineers educated

From Q. 74 to Q. 77 : Choose the correct pair of words which are SYNONYMS to

each other :

74. (A) Emigrant — Immigrant (B) Piece — Pierce
(C) Frugal — Thrifty (D) Irritate — Instigate
75. (A) Rely — Resist (B) Rule — Rue
(C) Secret — Clandestine (D) Site — Sight
76. (A) Deride — Arrive (B) Derive — Divade
(C) Deride — Mock (D) Mock — Praise
77. (A) Citizen — Foreigner (B) Citizen — Emigrant
(C) Citizen — Subject (D) Citizen — Immigrant

From Q. 78 to Q. 80 : Choose the correct pair of words which are ANTONYMS to

each other :

78. (A) Folly — Stupidity (B) Sweet — Salty

(C) Visible — Unvisible (D) Scatter — Collect
79. (A) Advance — Retreat (B) Abandon — Desert

(C) Elevate — Raise (D) Value — Success
80. (A) Acquit — Convict (B) Expect — Hope

(C) Faithful — Loyal (D) End — Finish

@i
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Q. 81 T %1 Q. 83 T : weysifEe wrefyf / 3¢f / *% foyof 4l

81. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
Q. 81 to Q. 83 SfEe 2t / IF / ¥ IS @ FCEA :
81. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
Q.81 WA Q. 83 fFm:
THHEME 3T T/ ERE VAREE | AT
81. 5:27::9:
(A) 83 (B) 81
(C) 36 D) 18

9 HEAT 81 | 83 Tk T FEAY YIS A H AT |
81. 5:27:9:

(A) 83 (B) 81
(C) 36 (D) 18
From Q. 81 to Q. 83 : Find the missing numbers/letters/words.
81. 5:27:9:
(A) 83 B) 81
(C) 36 (D) 18
82. AQRD : BRSE :: LMTJ :
(A) MNRK (B) MNSK
(C) MNUK (D) MMUK
83. Bus: Driver :: Horse :
(A) Saddle (B) Rein
(C) Horseman (D) Stirrup
84, (I T [TF LIRS (WK1 "»FMIE% : % % = F AT 104 .. | fagenrm

G Eecs qK e A o -

(A) 52w.f. (B) 487.f.
(C) 44w D) 40w.f.
SPACE FOR ROUGH WORK
(5]
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84. «IL fagred Ared SE#re %%i @3 #ff (perimeter) 104 CTHRGE | fagrea
A ow A’ 7+
(A) 52 oL@ (B) A8 TG E
(C) 44 TfTRGE (D) 40 TIHGE

84. AMH AETMYITA ARSTIBRA FTJIZT A %%% FW \RATE TommEn smEmE
104 .19, | 3 sTREfIg™E Tt ad ARSTIET JFH
(A) 523fa (B) 484Afa.
(C) 443fa (D) 40 Afa.

84. Eﬁg@rﬁgmaﬁmm%%& 2 S ZFH1 7@ 104 .. 2 | By 1 959 o=
(A) 529 (B) 48 &4
(C) 44 = D) 40 =

84. The ratio of the sides of a triangle 1s %%% and its perimeter 1s 104 cm. The
longest arm of the triangle 1s :
(A) 5Z2cm (B) 48 cm
(C) 44 cm (D) 40 cm

85. T[22 @u fUriwia b e Fafes, A9 (Heree [2r2 B0 I T 20 v ST

& 7S Sea | (GFR @ IR 45 e e feriE oo viEfes | fzriE fTemie
TR 16 7 Sesw TENE e = Farze | 3w fexE @earns T30 3w i,
(SC8 TGN 3@ =11 & q1 Weies! 272 2

(A) WFAT (B) =131
(C) medaR (D) YRR
SPACE FOR ROUGH WORK
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85. f2RI @I TAMGLEd (movie) BfF6 RF®9 (booked) FCACZ [ 2WT <e T=MLA
(trailer) Y& “Ik ©F G5 I Fa@ 20 7“4 | Torad 2m*© 4&Td (trailer) 45
% [ CTUA6Eb (movie) (ACAZ# | [2R1 TAm6Eb rei@ 16 = "I(FTUW%BE% (movie)
§F cofRfes | A of a9aea B @9 (booked) FAZH (A AR (& 9

TFGED @ CHRI2e ?

(A) wFE (B) I
(C) Ff<aF (D) VFEEE

85. T =1 A Ay fefera a1 51 9@y trailer @1 54 fefsha smamfa am 20 famn
fegaaE™EaE | 931 9 9@gTE! trailer TegA9E aMA @4 45 T4 39@ 91531 | o

ARG | A A FE1 94 16 @id fagma 931 | Sfe 331 Toar@ta 3 aeg=al
1AL, 3 AEY A FIITE A T AT TegATEEE 2

(A) TEFAR (B) R

(C) T=aR (D) TFTEER

85. i 71 v Tohem =1 Toshe e fona Foraent o Teshe 99 i | 20 Ted Tt i faranaran 9 |
oo Tefs 2 o 45 Tea =18 57 Thed @l 2 | Then 3a e 9 16 Ted et e s g o
e firan 71 Topem a@t ot | 9w & o fea fren fefia g8 off 391t 399 oam &1 fohe 9%
[ERIRIN

(A) TERAR (B) wfaw
(C) To=m (D) WA

85. Priya booked a ticket for a movie whose trailer was released 20 days before
she booked the ticket. She watched the movie 45 days after the trailer was
released. The movie was released 16 day before the day on which Priya
watched the movie. On which day of the week was the movie released if she
booked the ticket on Sunday ?

(A) Fnday (B) Saturday
(C) Sunday (D) Tuesday
SPACE FOR ROUGH WORK
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86.

86.

86.

86.

e T, Eer, @it
O3 (RPN NG 95T TeFgeia ey sfaq @1 Tawn! e 5 :

(© (D) OO
O

7S g, QAFel, QR — 93 (ETILTER YR SPREE TeFped efeiirg i fTah
e 4 :

©) D) OO
|

IRET (Classes) BRA AEE YTHE AHFCRE | 98 -Fg 381 A5G4 HRAFHT TH/E | A1 |
e Teedl, AienT, uraan

© ) OO
O

39 AT F1 T8I L S AT 1 5 =19 5 g1 5] F09 =9 F A1d1 8 -
75 feet, Hetspt, Tfomn

(©) D) OO
O

SPACE FOR ROUGH WORK
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86. Identify the diagram that best represents the relationship among the classes :
New Delhi, Sri Lanka, Asia

© D) OO
QO

e~

Q. 87 I 7}l Q. 89 T : feryf#i¥re UIG! farem Fefelbl @ fAue =if2 ATy S =F o]
b SWEF | (S5 WG G2 (50! [ 5 |

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 87 - Q. 89 : 1w TI=e f9Fraa W2y feafs Awe <A1 fams e Todt wate | (@b o2
(A T sfo oY 2

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q.87 MW@ Q. 89 M :
TEAEE 2FE A8 8= (options) THAT B AHY §F:|'<T[ @ (Pattern) 3 W& ®IAMET
I G AFH Sl 90 231 | 3 ST RIS TErg ] T |

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762

e : U9 F9EA 87 | 89 : fH=raRgd ar fashea § F o1F U 13919 Ted 7 99F # 3R 39t
T8 F41G 2 | 998 9 AT d e 1 H1Es |

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762

From Q. 87 - Q. 89 : Three out of the following four options are alike in a

particular pattern and hence form a group. Find the one which does NOT
belong to the group.

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762
SPACE FOR ROUGH WORK
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225 100

88. (A B) ——
3) 3375 ® 1331
169 289
C D
© 2744 ) 5832
89. (A) s+ (Emission) (B) & (Pollution)
(C) 739 (Contamination) (D) teEEa (Adulteration)
89. (A) TishE (B) &
(C) 7 (D) ToEEEE
89. (A) IgR@IA (B) T
(C) HATETATHAHE (D) ATAHTE T TAFA
89. (A) IoasH (B) g™
(C) Tum (D) faeEe
89. (A) Emission (B) Pollution
(C) Contamination (D) Adulteration
90. eve Tae fage g kel foelx 1 -

90.

(A) 12 (B) 18
(C) 22 (D) 26
T e U@ It fqgrera R4l C4iite (@@ el -

(A) 12 (B) 18
(C) 22 (D) 26
SPACE FOR ROUGH WORK
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90. ¥ HAHTTE AH9d AETIH € 2

(A) 12 (B) 18
(C) 22 (D) 26

90. <I7E 3THd H Y HT I A FIg -

A) 12 (B) 18
(C) 22 (D) 26

90. Find the number of triangles in the given figure :

A 12 (B) 18
(C) 22 D) 26
SPACE FOR ROUGH WORK
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91.

91.

91.

91.

T A (TST FET 3 T2F TIHT WF (967 R (967 “[@F K[ vifaxd | 37 3
29 128 (9€T 7[TF R 15 20 R, (S0F (TST 37 TSR R (2T —

(A) 60 =T B) 51 7=

(C) 48 927 (D) 45 T%7

QTG (FT[F S FIF (2T [on IO T IR OfF (@0aAF RO TIF @9 97 | 17 3 I8974
A OIF (=2 KA 15 IO R, OF O I TN R F© 2

(A) 603 (B) 51 I

(C) 48 I0M@ (D) 45 I

a8 AEran faf fafarsgs @R 3 gfaq 3w 1rat fasand @3 4 79 faq | Jie
ThaTsert I3 SR 9T 39 15 9ER SEmeal, o AEtar fafat seemn snive s
32

(A) 60 FER (B) 51 @R

(C) 48 @R (D) 45 @R

T SATEH! T T 9 3 A1 F21 2 SR AT A A IRITAT TSI 2 | A | 3 T a1g 15 a9
1B A 2, 1 31 Tedl o1 Fa9H 3 2 -

(A) 607 (B) 514
(C) 4899 (D) 4599
91. A man is 3 years older than his wife and four times as old as his son. If the
son becomes 15 years old after 3 years, the present age of his wife is :
(A) 60 years (B) 51 years
(C) 48 years (D) 45 years
92. SifovEiT »[© dlf= Qe Aol WFE el TR RIS SvIee Wiz wike | Aqeiz
(FTE (@ oIE =i ©13 AS DTS “Ifq0z | Haois @R Y2 < wifee 2
(A) wEse B) 7@
(C) w1 (D) ~If*ex
92. TSl QI ATS! AP AN TG S AFGCE M TR W | AT (747
AT BRI TS AT HATZ | H TS (FRMCE 3% 0 HZ 2
(A) WS B) [
(C) Ted (D) ~f=6x
SPACE FOR ROUGH WORK
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92. @@ HW ArFaET FHaama f5aR SATE AR sHEA FedE | AfEaE i1 aEEE!
= AP 3T | A 59 (a1t awg1 SiE1 gaE 2
(A) @ren (B) =M=
(C) == (D) FFHE
92, Ff 3R A1 gag w9 Uk galsh TE A1 W@ 9 | dfad 4 g@1 i aftd = =18 371 aftar
HIBETYT | Fdar fnd fem =1 377 3@ o7 ?
(A) am B) T
(C) (D) TfFEm
92. Sarita and Savita were coming to each other in the garden in the morning.
Savita saw that Sarita’s shadow was at Sarita’s left side. Which direction
was Savita facing to ?
(A) South (B) East
(C) North (D) West
93. AW a<20% IV b =, TOCE 20 T b% T M MW 2T :
(A) av4% (B) ad6%
(C) as8% (D) ad10%
93. M a QA 20% b R T 20 9T b% WA 23 :
(A) a9d4% (B) a<9d6%
(C) a9d8% (D) a<9910%
93. ¢ afd20% 311 b AT 3781 20 4 b% 1 S 9 S |
(A) af14% (B) afi6%
(C) af18% D) af110%
93. A5aH20%b 7, A20H1b% FAH 2 :
(A) a=14% (B) a=h16%
(C) a=18% (D) a=110%
93. If 20% of a 1s b, then b% of 20 1s the same as :
(A) 4% ofa (B) 6% ofa
(C) 8%ofa (D) 10% of a
94, IEGT FER ERICHT I R AT 71 Qe 3o AT Off Tt Y Zre =itz ?
(A) D (B) W
(C) R D) E
SPACE FOR ROUGH WORK
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94. T 2FG! T AN @TF AW (Tth) FT G T 7 TF QTSN (16t%) G
otz ?
(A) D B) W
C) R (D) E
94. IS ERG M 9 BRE 13T ARSI 36T Forg T smfarw ™ feasma g 2
(A D B) W
) R (D) E
94. TSI FIETAT 1 HH 91 & 5§ A8 AL H A10 & F1qd &H R/ T2 7
(A D B) W
C) R D) E
94. Which letter of the English Alphabet 1s the seventh from left of sixteenth
from right ?
(A) D (B) W
C©) R D) E
95. % 71 41 @bl IT© FT (2 A2 Witz | Wew, @fze oF 7 #AEed NEs HE |

95.

95.

95.

TR ASTIE 7 | @IS eI ASTHIE WZ | HER A T35 CIFCE (el 20z ?

(A) P (B) R

(SIRSIES (D) waee

ATE (Z0F JTIFIT TBTZ TX 07 W2 | Wew (@2 QI 7o Gred N2y 07 | 5w
*TCETR AN, (@IS I AN | (F SR T TR 0702 2

(A) T (B) o=

(C) tafzs (D) 7ErEe

a1 BAERT AFE S@AE ToEHT ¢aF | Ufed 3TRT gettaar Tore 379337 frmar |
FAAST TAECA AT AT Uaast1 Faard AFfare T | F=ata Ameigyane an
et 2

(A) g°d (B) 2™«

(C) Ufed (D) geitad

T7E S UF HL A U gal 1 AT ] 50 93 @ | 3794, Uled 3R grersia = &4 & | g7,
TATTA % FTE IR 2, Ued, I 6 908 AR S | 3T9AH 36 A HHA IS8 7

(A) g (B) ™

(C) fea (D) grersi

SPACE FOR ROUGH WORK
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95. Five boys are sitting in a circle facing inward. Ajay is between Rohit and
Doljit. Suman is at the left of Shyamal, Rohit is at the left of Suman. Who is
sitting at the immediate right of Ajay ?

(A) Suman (B) Shyamal
(C) Rohit (D) Doljit
96. Teralel¥e =wcaiq Yeieer w2l welv)f e e -
(1) Ti= (2) T (3) famaed
(4) T (5) fwi (6) R
(A) 1,5,4,2,6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4,6,3
96. T3 ST M WITANT Yol ©ag welvefena AEis :
(1) wx (2) AN (3) =
4) 3% (5) fram™ (6) Fl
(A) 1,5,4,2,6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4,6,3

96. TTEEE ZFE AGEHRE | JFA [1 AR ST HIHEE AT |
(1) =™ (2) wmEEA
(3) HIEEEEE (4) 3mET
(5) TTEE AU ™ (Low Pressure) (6) G
(A 1,5,4,2,6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4,6,3

96. fAf@REd Ieg] 1 Alhes TR ALV 3HH F AT 1T -

(1) e (2) U (3) @l

(4) =ie (5) HATAE 6) =@

(A 1,5,4,2,6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4,6,3

96. Arrange the following words in a logical and meaningful order :
(1) Cloud (2) Rainbow (3) Devastation
(4) Rain (5) Low Pressure (6) Flood
(A 1,5,4,2,6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4,6,3

SPACE FOR ROUGH WORK
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97. % ‘HONESTY < 5132468 f=rita =it ‘POVERTY % 7192068 fzvia for4r =,
(OC% GTF0! (FLeE ‘HORSE < &= #fer= 2
(A) 50124 (B) 51042
(C) 51024 (D) 52014

97. % ‘HONESTY 5132468 ford (7141 & @ POVERTY’ 7192068 ferma @4l =,
©IEE GFeadw YHce ‘HORSE’ <5 Sta @74 9% 2
(A) 50124 (B) 51042
(C) 51024 D) 52014

97. Jfe HONESTY @1 5132468 = fewml 3™ POVERTY @1 7192068 =i
T 3 W8 38R 2/ET (code) ST HORSE @1 ATER fefiaiM ?
(A) 50124 (B) 51042
(C) 51024 (D) 52014

97. 3¢ HONESTY %1 5132468 37X POVERTY &1 7192068 Tewg1 SI1a1 2, a1 351 $18 9
HORSE #Ife@1 3 2 :
(A) 50124 (B) 51042
(C) 51024 (D) 52014

97. If HONESTY is written as 5132468 and POVERTY 1s as 7192068, then in the
same code, HORSE is written as :
(A) 50124 (B) 51042
(C) 51024 (D) 52014

98. 200 . =F 100 f¥. TRf 72 @@6IC! Few 20 ™./ OrFs 3T 22 ./ 0Fe® @9
SR S sife I Tz | A% @ISt 74 GTF5! e 5o 1, (TTT Q4T SRS
STy FEACE [P BRF RS 2 F ?
(A) 212 TS (B) 135 Wi
(C) 150 T D) 120 W

98. 200 WG ¥/l @32 100 NOIF =741 7205 (@198 "NBARTSICT A= 2o CTHte 20 [EE

QR &fs erFty 22 RNO[E ofers vane | AW (G 72h F[Ra 9F2 7T Ui ol O
HHACE S OFN FACS F© W T4 2

A) 212770 (B) 1350
(C) 150t (D) 120 s
SPACE FOR ROUGH WORK
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98. fam i @wram w1ftd 200 fa. 311 100 4. TremE wrte 14 Trefasn semE 20 7.4
W 22 Ta./4. | S e T wE feTE @ iEd, 39 TETE 38 f9ER IR e ?
(A) 2124 (B) 1354.
(C) 150 4. (D) 1204.

98. 200 He 37K 100 HiX &1 g1 24 A 20 HTYHFS N 22 Het/The Fi gL J AR
IATE 2 | Ag 2 U F e 999 @1 E; 91 32 UH gL 1 TR HH H fsha1 a9 < ?
(A) 212 T%s (B) 135 d%s
(C) 150 THs (D) 120 FHe

98. Two trains of 200 m and 100 m long are running parallel at the rate of
20 m/sec. and 22 m/sec. respectively. How much time will they take to cross
each other, if the trains are running along the same direction ?
(A) 212 sec. (B) 135 sec.
(C) 150 sec. (D) 120 sec.

99. JfTO2 B2 FRIFRT “[ 2 fF.:4. 13 o T owF o[ Fze Ciewrs ¥ 8 fFf. ar |
o fms R e 2 AL o weselier 4 AL aR | SEniEs ol qiewea ¥
1 f.13. wfeay 3 o1 s @ B S9fes = | T FRIFR 3 @4HEoa NE3
TSN R Y (2R
(A) 25T, B) 137,
(C) 127, D) 17755,

99. Ifael oF W s @b 2 fFefye s fs, 8 fafue om TRfms, savm 2 faefe
s T wRrE 4 feefie afse s ar | s@Emim of aw s e w1 e @6
O SR TR | T SRR @R O SWHER W27 FEAFES ARITR 799 (aerial
distance) & :
(A) 25 fefae B) 13 fFee
(C) 12T D) 17 Fee

99, FHiFAET TEH AFG A B FAANY 2 f6.fa. 9@ | SEE AE FFErd 8 km

(fep.111.) TR gAY 2 .M. gEmEEE IR TF ey 4 .M. 9w | SEyEE
T srmrfafy firfean 1 6. fa. gmamam Efa 3 351 9531 | wiaai+ aEgia i & 34
TSE ETEA SR (Aerial) AT SEHE

(A) 25f=.fa B) 13f®.fa
(C) 12f®fa D) 17fxfa
SPACE FOR ROUGH WORK
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99. A1 I AT F 2 T #1. 19 F1 AL Fad 8, 5 8 o6 41 g 3w 30 fp 2 fo6 .
o 1 37 i et 4 T2, e ) i et & | 3 6 e A et § S S AT
T TET % fere 1 fop. . gt 2 | Hian & Faier 3 35 3Ieae % S =Had 29
qﬁ% H
(A) 25 .. (B) 13f&.=
(C) 12T D) 17 %4

99. Kabita walks from her office 2 km to the east, then 8 km towards her right,
then 2 km towards the east and then 4 km towards the south. Finally she

turns left and walks 1 km to reach her apartment. The shortest aerial
distance between Kabita’s office and her apartment is :

(A) 25km (B) 13 km
(C) 12 km (D) 17 km

100. 35 : 6 3 57 ST Y72 ey 3o 16 03w 741 |

(A) 85:9 (B) 64 :8
(C) 26:5 (D) 120:11

100. (1 Y201 TETB 35 : 6 99 V© GFBIM I FHAFS ©f fordive 4 |
(A) 85:9 (B) 64:8
(C) 26:5 D) 120:11

100, TTETERT ST 5 ST 9, ST 37091 71421 35 : 6 9rfed AHFer M |
(A) 85:9 (B) 64 :8
(C) 26:5 D) 120:11

100. 37 S 7 57 P G S Seh s A 2 435 6 F)
(A) 85:9 (B) 64 :8
(C) 26:5 (D) 120:11

100. Select the number pair in which the two numbers are related in the same
way as 35 : 6.

(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11
SPACE FOR ROUGH WORK
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